Sheet 15 Maths - Ladybirds

Subtraction - Crossing 10 (2)

There are doughnuts.
& were token away.
Mow there are 7 left.

Represent the story as a

.. . There are 17 counters.

.. = E E 8 were token away.

How many are left?

& 17|-]1 8 [=| 8

1

number sentence,
Spot and explain the mistake. @ part-whole model and
on a number line?
Use the ten frame to work out the following | First there are 15,
problem. | Then were taken away.
" | Now there are &.
ters. |
E & :r:!r:zzhen uw::.un = | Represent this on the ten frames below.
B were left.

There are 15 counters.
B are blue.

There are 13 apples.
O were taken away.
Mow there are 5 left.

|
|
! 7 are red.
P
Represent the story os a | %ﬂ[} 15|=-| 8 |=]| 7
. number sentence, | o
w part-whole model and |
on a number line? t Spot the mistake and explain how you know.

e e e e e e e e i e e e

There are 12 counters.
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are blue.

|
1
|
& rounters are red. | o There are 16 counters.
| __ are blue.
o | 7 are red.
|
|
|
|

Complete the part-whole -
model and calculation !
16 | = =| 7
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Sheet 15 Maths — Spiders and Butterflies

Select a subtraction problem and show it on the ten frames to help you complete the calculation.

P12 -3 | = P13 -18 = L [13]-]a|= |

sl Eaws

| 2 || 1 3 (|5 i 3 i
Calculation:

| | | | | | | | | | | | | | | | | | | | |

| | | | [ | | | | [ | | | | [ | [ | | | |

0 1 2 3 4 5 b 7 8 q 10 11 12 13 14 15 16 17 18 19 20




Calculation:

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Calculation:

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20



Sheet 15 Maths — Bees and Frogs

. Number Line

Subtraction |1%°° -®| s

20 3 & 1 F 3 & 5 & T B § IDI1 I1F 13 1& 15 1& 1T 1B 19 2O
9 Ei o 1 2 3 &£ 5 & T E 9 D11 1z 13 14 15 1& 17 18 1% 20

18 2 o 1 2 3 &£ 5 & F E 9 D11 12 13 14 15 1& 17 18 1% 20

10 6 o 1 2 3 &£ 5 & T B 9 1011 17 13 1& 15 1& 17 18 1% 20

? 3 o 1 2 3 &£ 5 & T B 9 D I1 12 13 1& 15 1& 17 18 1% 20

2 2 o 1 2 3 &£ 5 & T E 9 D11 1z 13 14 15 1& 17 18 1% 20

o 1 F 3 & 5 & 7 B 9 D11 1Z 13 1& 1% 0% 1T 182 19 20

11 8 o 1 F 3 & 5 & F B 9 D11 12 13 1& 1% 0% 1T 18 19 20

15 - 3 - 0 1 2 3 & 5 & 7 8 9 1D 11 12 13 1& 15 1& 1T 18 1% 20
6 1_ C 1 2 3 & 5 & T 8 9 1011 1213 1% 15 15 17 12 19 20
- -+ttt




